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‘Editors (…) clumsy mistakes.’ (paragraph 2) 
1p 14 What is the function of the examples in this sentence? 

A to argue that a stricter control of established institutions is long 
overdue 

B to explain why a string of isolated incidents can have such a profound 
impact 

C to make clear that the legislation on public misconduct is haphazard 
D to show that repression of alleged wrongdoers is already common 

practice 
E to stress that ill-considered publications are a threat to social stability 
 

1p 15 Which of the following fits the gap in paragraph 3? 
A confirm consensus effects 
B control opposing voices 
C defeat flawed ideas 
D impose dubious policies 
E trigger unwanted responses 
 
 

Tekst 6  The Romantics and Break Up Songs 
 

1p 16 Which of the following fits the gap in paragraph 1? 
A closes down permanently 
B forbids smoking guns 
C has revolving doors 
D hosts poker games 
E welcomes new guests 
 

1p 17 What is said about break up songs in paragraphs 1-3? 
A They are generally relatable but vary in intensity. 
B They follow a strict pattern to increase their commercial potential. 
C They help people overcome their own heartache. 
D They tend to be catchy even if they are dramatically inconsistent. 
 

1p 18 Which of the following can be linked to Wordsworth’s “visionary gleam” 
according to paragraph 5? 
A a child’s capacity to perceive life’s wonders in full dedication  
B a child’s innocence and disarming simplicity in times of trouble 
C a child’s natural tendency to act intuitively instead of rationally 
D a child’s refusal to wholly embrace the inevitability of adulthood 
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‘Love may sink by slow decay, 
But by sudden wrench, believe not, 
Hearts can thus be torn away’ (paragraph 6) 

1p 19 Which of the following paraphrases these lines written by Byron, judging 
from the final sentence of paragraph 6? 
A A sense of internal peace can be accomplished only if both lovers 

accept that a romance is over. 
B A swift termination of a romance is preferable to letting it gradually 

fade out over time. 
C An abrupt ending of a romance stands in the way of a complete 

release from involvement.  
D Reaching out to the other person after a romance has ended extends 

the grieving process. 
 

1p 20 What is said about Byron’s break up lyrics in paragraph 7? 
A They contained thinly veiled threats and unpleasant details. 
B They drew a lot of critical acclaim for being ruthlessly honest. 
C They inspired modern songs written by present-day artists. 
D They made him one of the most popular poets of his day. 
E They were a means to protect his standing and good name. 
 

1p 21 Which of the following fits the gap in paragraph 7? 
A A rising tide lifts all boats 
B Not all those who wander are lost 
C The course of true love never did run smooth 
D The flowers only bloom once 
 
 

Tekst 7  Rationality 
 

1p 22 How does the writer introduce ‘rationality’ in paragraph 1? 
A as a cognitive faculty that lacks practical use for tackling ongoing 

issues 
B as a valuable guiding principle that is neglected all too often nowadays 
C as an academic abstraction that has more potential than is 

acknowledged  
D as an outdated construct that has been the cause of current 

predicaments 
 

1p 23 What is the function of the example of the San in paragraph 2? 
A to explain how rationality can emerge in adverse circumstances 
B to point out that the rationality of primitive societies has evolved 
C to stress that the roots of rationality can be traced back through time 
D to support the claim that rationality is an inborn quality of all mankind 
 
 
 


